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B.Sc. 3rd Semester (Programme) Examination, 2020-21 

PHYSICS 

Course ID: 32418                                                         Course Code: SP/PHS/301/C-1C  

Course Title: Physics-III 

Time: 1 Hour 15 Minutes                                                                                                       Full Marks: 25   

                                                       The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words 

                                                                   as far as practicable     

দক্ষিণ প্রান্তস্থ ঴ংখ্যাগুক্ষ঱ পূণ ণমান ক্ষনর্দণলক । 

পরীিার্থীর্দর  যর্থা঴ম্ভব ক্ষনর্ের ভা঳ায় উত্তর ক্ষদর্ে ঵র্ব। 

  

                                                                                   Section-I 

Answer any five of the following:                                                                                                [15=5] 

1. a)  What is the value of phase difference and path difference in case of destructive  interference? 

        ধ্বং঴াত্মক বযক্ষেচার্রর ক্ষির্ে দলাপার্থ ণকয এবং পর্থপার্থ ণর্কযর মান কে ? 

    b) What is packing fraction in nuclear physics? 

         ক্ষনউক্ষিয় পদার্থ ণক্ষবদযায় পযাক্ষকং ভগ্াংল কী? 

    c)  What do you mean by Dichroism? 

         ক্ষিরাগত্ব ব঱র্ে ক্ষক ক্ষবার্ া ?     

          

    d)  What should be the minimum resolving power of a plane transmission grating to resolve 5890Å and    

         5896Å emerging simultaneously from a source?  

    একটি ঴মে঱ ক্ষনিঃ঴রণ ক্ষেটিং এর ক্ষবর্ে঳ণী িমো ঴ব ণক্ষনম্ন কে ঵র্঱ ো উৎ঴ ক্ষর্থর্ক একই ঴ার্র্থ আ঴া 

   

         5890Å এবং 5896Å েরঙ্গদদর্ঘ ণযর্ক আ঱াদা করর্ে ঴িম ঵র্ব? 

    e) Define “Becquerel”.  

        "ক্ষবর্কর্র঱" এর ঴ংজ্ঞা ক্ষ঱খ্।  

    f) What is Brewster’s law? 

         ক্ষিউস্টার এর ঴ূেটি কী? 

    g) Write two differences among crystalline and amorphous solids.                                   P.T.O. 
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        ক্ষক঱া঴াকার ও অক্ষনয়োকার পদার্র্থ ণর মর্যয দুটি পার্থ ণকয ক্ষ঱খ্।                                                                                                                                                            

h) What is the importance of probability-density in quantum mechanics? 

        ক্ষকায়ান্টাম ক্ষমকাক্ষনর্ে ঴ম্ভাবযো-র্ঘনর্ত্বর গুরুত্ব কী?                                                                                                                                    

                                                                                Section-II 

Answer any two of the following:                                                                                               [52=10]  

2. a) Derive the time dependent Schrӧdinger equation in 1-D.                                                        [5] 

        শ্রয়ডিঞ্জার এর এক-মাত্রিক সময়-সাপেক্ষ সমীকরণটি প্রডিষ্ঠা কর।     

         

    b) What are the main differences between visible ray and X-ray? The crystal structure can be  

        determined with the help of X-rays, but not with ordinary light -why? When is the characteristic  

       X-ray generated?                                                                                                              [ 1
2

1
+1

2

1
+2] 

       দৃলযমানরশ্মি এবং এে-রশ্মির মর্যয প্রযান পার্থ ণকয কী কী ? ক্ষক঱ার্঴র গঠনক্ষবনযা঴ এেরশ্মির ঴া঵ার্যয     

       ক্ষনণ ণয় করা যায় , অথচ ঴াযারণ আর্঱ার ঴া঵ার্যয করা যায় না - ক্ষকন? ববক্ষলষ্ট্যপূণ ণ এেরশ্মি কখ্ন উৎপন্ন ঵য় ? 

 

    c) The angle of diffraction for the first order spectrum of a grating is 30°. The light used has a   

        wavelength of 5500Å. Calculate the number of lines per cm of the grating.                                [5] 

       ক্ষয ক্ষেটিং িারা 5500Å েরঙ্গদদর্র্ঘ ণযর আর্঱ার্কর প্রর্থম পয ণার্য়র বণ ণা঱ীর ের্নয 30° ক্ষবর্িপ র্ঘর্ি, োর্ে প্রক্ষে    

       ক্ষ঴ক্ষন্টক্ষমিার্র ক্ষরখ্ার ঴ংখ্যা ক্ষনণ ণয় কর।   

   d) What do you mean by optical activity? What is specific rotation? What is its unit?               [2+2+1] 

 

       আর্঱াক ঴শ্মিয়ো ব঱র্ে কী ক্ষবা ? আর্পক্ষিক আবেণন কী? এর রাক্ষল কী?      

                                                                                                                                                                                                                      

                                                                      Section-III 

Answer any one of the following:                                                                                               [101=10] 

3.  a) Compare Fission and fusion reactions. From a nucleus first an α-particle and then two β-particles     

         are emitted. Show that the final nucleus is the isotope of the primary nucleus. What is Q-value of   

         nuclear reaction?The half-life of a radioactive element is 60 days. After how many days 1/4 of that  

         elemental will remain? What do you mean by one curie in radioactivity?                      [2+2+2+3+1] 

        ক্ষবভােন এবং ঴ংর্যােন প্রশ্মিয়ার মর্যয েু঱না কর। একটি ক্ষনউক্ষিয়া঴ ক্ষর্থর্ক প্রর্থর্ম একটি α কণা এবং 
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                                                                                                                                                            P.T.O.               

 

        োরপর্র  দুটি β কণা ক্ষনগ ণে ঵঱। ক্ষদখ্াও  ক্ষয চূশান্ত ক্ষনউক্ষিয়া঴টি প্রার্থক্ষমক ক্ষনউক্ষিয়ার্঴র ঴মস্থাক্ষনক। একটি 

                                                                                                                                                            

        ক্ষেেশ্মিয় ক্ষমৌর্঱র অয ণায়ু 60 ক্ষদন। কেক্ষদন পর ওই ক্ষমৌ঱পরমাণুর 1/4 অংল অবক্ষলষ্ট্ র্থাকর্ব ?  ক্ষনউক্ষিও- 

 

        ক্ষবশ্মিয়ার Q –মান ব঱র্ে ক্ষক ক্ষবা ? ক্ষেেশ্মিয়োর এক কুক্ষর ব঱র্ে কী ক্ষবা ? 

 

.    b) Show that the intensity distribution in a single slit Fraunhofer diffraction can be expressed in a form   
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2 a  and symbols have their usual meanings. Show that the widths     

         of the dark and bright fringes are equal in Young’s double slit experiment. Explain the change   

         in fringe widths; if the Young’s double slit experiment is performed under water.                [4+4+2]   

 

        ক্ষদখ্াও ক্ষয একক ক্ষরখ্াক্ষির্ের ফ্রান঵ফার অপবেণন-এ েীিো বন্টর্নর রাক্ষল 
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       আকার্র প্রকাল করা ক্ষযর্ে পার্র; ক্ষযখ্ার্ন 



 sin

2
2 a  এবং প্রেীক গুক্ষ঱ স্বাভাক্ষভক অর্র্থ ণ  বযবহৃে। 

       ইয়ং এর যুগ্ম ক্ষরখ্াক্ষির্ের পরীিায়  ক্ষদখ্াও ক্ষয উজ্জ্ব঱  এবং  অন্ধকার  া঱র প্রর্স্থর ক্ষবয ঴মান। ইয়ং এর যুগ্ম  

 

       ক্ষরখ্াক্ষির্ের পরীিাটি  যক্ষদ ের্঱র নীর্চ করা ঵য় ো঵র্঱ পটির ক্ষবয  অর্থবা   া঱র  প্রর্স্থর  ক্ষক রকম পক্ষরবেণন 

     

        ঵র্ব ো বযাখ্যা কর।    
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